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Homework 10-8: Dilations of Lines

1. A dilation leaves a line passing through the center of dilation 1N (L
2. A dilation takes a line NOT passing through the center of dilation to a

paxa el line.

Dilate the following lines for the given center and scale factor. Then, write the equation of

the original AND the new line.
F
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6. The line y = 2x -4 is dilated by a scale factor of % and centered at the origin. Which equation

represents the image of the line after the dilation?
(1) y=2x—-4  _ 3%
@z H3) oL
y=ix-4
o)

7. The equation of line /1 is 2x + y =1. Line m is the image of line / after a dilation of
scale factor 4 with respect to the origin. What is the equation of the line m?
+ = [ 1 —_ P y
X Lj U ~A T T
Y= -21xx <

8. The line with the equation éy = x is dilated by a scale factor of 3 centered

at the origin,. What is the equation of the new line?
T~y

\v .
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9. Write the equation of the perpendicular bisector of the line that passes
through the points (5, -8) and (-6, -2). /

® (Bt -3 ® wepay o Oy5 R0 Z
=, Tz e
(=72, 7% = (-'2,-5) LG

10. Which of the following transformations will NOT produce a line that is
parallel to the line y = 4x - 7?
a) Ts, -2 b) Do+ (E)Ros) d)ry=ax
11, Given the points A(1, 2) and B(7, 8), find the coordinates of point P on
directed line segment AB that partitions AB in the ratio 1/3.
\ 3 o A yloa=Y-®
= ——
a ¢ 2 v "”"3 >3-
}2- | {1;% _1"'%:” 5')4" g' = -
( ! \ (1,9) -) #u4% Y A3 _ “"tp-f% + u,j"“)’ /5
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Review is long!

You may skip #'s 3,5,8,13,14,24,27,30

These are good practice but if time is
an issue you can skip them. . .
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Unit 10 Test Review (ﬁﬂ-;,, Yy Lfﬁk}
< <

Midpoint Formula:
= YV
M- L

Slope Formula: )&.-K,l
1 +
Distance Formula: - "( 0

Point-Slope Form: M
| )

Slope-Intercept Form: gs NX "—b

April 04, 2018
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Find the slope of A2 and CD and determine if the segments are parallel, perpendicular or

neither
1. A(-3,-1) B(-4,2) | C(55) D(6,2) Slope of AB "3
% )' *‘ jL xS' o 9 . Slope of €D ,
M=?':':! = a-i—l = Q_S- c -- - - ments are ml 6/
_q_.3 "‘18 W 6’ 3 Segment. 1L

2. A(8,12) B(5,4) C(2,1) D(5,9) Slope of AE 9/3
M= +l)‘= :_? qp’ Slope of €D 8/3 l /
S"% "3 ‘g_-__a Segments are ?ar" c
¥

W’E

- 2
3
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3= (= A"

Find the distance between each pair of poeints in questions 3 to 6.
3. (10,-3) (3,2 4. (-12,3)  (-3.1%)

de (ool G- D™ &= (BT (172"
[CD+ST Jqt+ T

qnf NYERCE|
@ {3as
5. (-5,-7) (21,-8) ﬁ(lzp\?;&)

I +01--9)* A= A1)+ €6 €6 2"
( \"’*(ZI)" m) + ((

@ Qc\&‘\%’ @
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Find the length of A8 and €D and determine if the segments are congruent or not
) B8 CG.6D (4 - YSQ
e P = S (£ S
e ALY
% g Congruent? -~
8. A(0,0) B(3,0) €(0,-3) D(3,-3) AB= S

(R W w3

—/\’
m Congruent? O'"e c

(5o
& B

10
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In question 9, determine if triangle ABC is scalene, isosceles or Tuilu‘reml_ usiﬂthe

distance formula. Show work for credit. &SC e

9. A(4,4) B(6,2) (C(-2,-4)

e

AB= S @.?‘:4.- ()%
((/,d)‘g r_.gﬂ

b s

- O

cLa ge 2\ €D rGE-"

~ f 9
pe g0 (e
e >

&

!

11
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In question 10, determine if triangle ABC is a right triangle. Hint: Use slope to determine
if two of the sides are perpendicular. -

16. A(-7,1) B( 4,-2) C(-3.5) ,24_;
C. | ’2;56“—‘;
Mo = T T
p My = & = =
Mpc = =) = 4 _ J

237
| 4 [ ave negative mafm@ls
et¥o 3C

£



9 Review '15-"16.notebook April 04, 2018

Cugt- ,

Find the midpoint between the two points in questions 11 to 14. Use the mi@urmuh.

Be sure to answer as an ordereq pair in simplest terms.

11. (-5,-3) (25 13] [») 12. (35,-2) (31,18) (g 2, 3 2
Yoy L YL

(S-ﬂ?'_ ’fD) é_é) -u\?)

g (8. = €3
(%)
13. (26,-18) (-14,-14) (5."/‘) 14. (-16, 29) (-24, -27) ( 3011

Cs»M —tﬁ_-l_‘-l) cha‘l aq +-a7>

C" 3{) 0, 2/ 7)
67,0,!)

13
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Find x and y in questions 15 and 16. A and B are endpoints and T is the midpoint. Use

the midpoint formula.
T(-13,8) B(x,-16)

16. A(x, y)sT{ -3,9) B(b, Iﬁlvgﬁ

-8

E)(,’s»b

14
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\5’3| =M CY-)(I)

17. What is the equation of a line through the point (1, 3) that has a slope of -2?

Y-3= -AX-I)

18. What is the equation of a line that passes through the coordinates(-1,2) and (7,6)?
—

WY1 =mOX-X) =62 M

April 04, 2018
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19. Write the equation of a line that is parallel to y = 2x + 3 and passes through the point [6,29 '

Y,

16
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21. Write the equation of a line that is perpendicularfo y = Lv‘Ex— hquusssthmughTha
point ( 64

=L
7‘: =
Y= -9 (X-6) °

( ) 1= -7

22. Write the equation of a line that is perpendicular toy = -3/2x - 3 that passes through the
point (6,7). -

April 04, 2018
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23. Write the equation of a line that is perpendicular toy = -2x + 4 that passes through the

point (8,8). ’1 = |
X3 me 3 W 2

(%)

Wy =Y

24. Write the equation of the perpendicular bisector that goes through the line segment with
endpointsof A(2,1) and B(6, -3). :

18
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25. Write the equation of the perpendicular bisector that goes through the line segment with
endpointsof A(-1,-2) and B { 2,-8).

w==9:—:3 3 6 MJ_“"L

- ' o5 =10 D)
Mg (13, 3L y

. (. 5 =} K+ Y

26. Write the equation of the perpendiculdr bisector Tha‘r goes through the line segment with
endpointsof A(-1,1)and B (7, 5)

19
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27. Given the points A(-3, -4) and B(5, 0), find the coordinates of the point P on directed

line segment 4B that parfitions 0 2:3.
M—W

Z_;_gcg g:.;c._a_
sx 3 oy 3

(5= 3K +3) »y+R= 3y

I0-3x =;><L*‘°‘ s M|
L

20
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28.6Given the points A(-1, 2) and B(7, 14), find the coordinates of the point P on directed line
segment 4B that partitions 4B in the ratio 1:3.

(-m)

S—
Y==lo 1 J2. L
1-x 3 My S

30D 7Y 3(9-9)> 43

é}‘.'.;s 7:;/ TN 3:6’ Iq:;
wr (19) ez
e WP 9V

21
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29. Given the points A(-2, 4) and B(7, -2), find the coordinates of the point P on directed line
segment AB that partitions AB in the ratio 1:2.

+X
s - =4
Er ===
& +&

22
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30. The map shows a straight highway between two tows. Highway planners want to build two
new rest stops between the tfowns so that the two rest stops divide the highway into
three equal parts. Find the coordinates of the points at which the rest stops should be

built. \ ’3'3) .. E:} _ _L
/ (httm ! F¥
o (¥+3) =3-X
f : I t f f
3

Ax+6= 3-¥

23
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31. The line with the equation 2y = 4x + 6 is dilated by a scale factor @znfer‘ed at the
origin. What is the equation of the new line?

ks ‘/\( ‘)L@ 3/(),;3 Sam@

7z
%?&X X d

\j; A%+ 32

24
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32. The equation of line mis 2x + y = 1. Line h is the image

scale factor o

April 04, 2018

after a dilation of a

25
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